College Algebra — Joysheet 5
MAT 140, Fall 2014 — D. Ivansié

Sl Oz

Show all your work!

Name:

Solve the inequalities. Write your solution in

interval notation.
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3. (6pts) Find the domain of the function f(z) = 311425 (in interval notation)
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4. (14pts) Elena, an apparel store employee, can be paid on one of two plans:

A) Salary of $540 per month, plus a commission of 12% of sales, or

B) Salary of $820 per month, plus a commission of 7% of sales over $1,500.

Assuming Elena can always sell more than $1,500, for what level of sales is plan A better?
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5. (14pts) On a drive to Hopkinsville you take the scenic route and drive at average speed
50 mph. On your return, you take a road that is 10 miles longer, but since you can drive at
average speed 60 mph, it takes you 2 minutes shorter than the trip to Hopkinsville. How far

is Hopkinsville from your starting point?
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6. (l4pts) How many liters of a 4% solution of sulphuric acid must be mixed with how
many liters of a 10% solution of sulphuric acid in order to get 5 liters of an 8% solution of

sulpimric acid?
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